Nam Progression: Difficult Year 6
Class
Place Value Addition (C)

What number is:

1) 4 more than 599 9977

2) 100 more than 384 9747
3) 5 less than 200 0007

4) 1000 more than 369 4067
5) 1000 less than 500 2787
6) 7 less than 298 0057

Answer the following.

777 635 - =772635 567635+ = 587 635
875 696 - 60 000 = 344 873 + 5000 =
743 913 - =743013 340537- = 40 537
853 241 - 30 000 = 332 385 - 50 000 = &
502 889 + =506 889 838195 - = 828\095—"/
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with 6-digit numbers? Not confident Fairly confident  Very confident
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